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I Continuation of analysis of Tna’x na’s story:
a  YRmnw: they were allowed to marry into any vaw as per v.1a
i Potential challenge: v.1b
1 Explanation: this was simply good advice
ii  Challenge: discussion re: v. 2 implies both current and future generations
1 Explanation: each has something the other doesn’t have; current generation have limitation of v. 1
2 Answer: this applies to other girls who inherit (v. 3), not to Tna% nia
b Tangent: reexamining limitation of v. 1 to current generation
i Source:v.l-19a1nm
1 Challenge: v. 4 —921n m
(a) Answer: nn77Y (v. 5) makes it a permanent prohibition
2 Challenge: v. 6 — 7270
(a) Answer: we learn (via "w 1) A1zt from v. 4
3 Question: why not infer v. 1 from v. 4 and read n%m naon as being a permanent ruling
(a) Answer: 9210 Nin vv. 4 and 6 are needed for v"1 (as below); v. 1 is otherwise unnecessary
(i) w7rv. 4 applies to Y11 190K, so too with 0111 > may be done with 3 mv» T
(ii) And:v.6 applies to mvnn "R, so too with pin oMY > NHYRY applies to V1PN as well
(iii) Note: w", who don’t allow wTpna nYRW, need both occurrences of nr:
1. pnsonw. only liable for nv'nY, not YN np*vn
2. p»77x only a 0an can release, not a husband (who can only be ®an% 181 7an)
(iv) Question: according to w”a, what is the source for mvyTn »?
1. Answer: from nv17Tonv.7
a. 257 °0r /7 only 'n *V I, not Naw (needs no 1”12 VITP)
b. o~z only 'n *110, not 071 NI9N need AnmMn
¢ Tangent: final n1wn in mayn describing a1 1v as parallel to 2”01 as a day of rejoicing
i Reasons:
S81p¥. Day when girls who inherited were allowed to marry “out” as per v. 1
72n 71 day when 11711 V2w was allowed to marry into other tribes (after oath at naxn) —v. 8
171 day when they realized that no one else would die in desert (as per annual deaths on 2"0) - v.9
~51y: day when n9R 12 ywin (last king of Y9879?) removed roadblocks to 9wy set up by va1 12 nyay
/29 /7. day when the dead of 1172 were allowed to be buried (”2*0nm 2300”372 Mpn)
qoy "1 737 last day for cutting word for narnn %y navn
(a) 7m5x "1 from that point on, the sun’s power ebbs, (called “day of the broken ax”)
(b) From this point: if someone increases their nighttime study — his days will increase;
(i) Ifnot: he will die young
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